BARE INFINITIVE / TO INFINITIVE / V-ING???

Exercise 1: Choose the correct form of the verbs in brackets
1. The teacher decided (accepting / to accept) the paper.

2. They appreciate (to have / having) this information.

3. His father doesn't approve of his (going / to go) to Europe.
4. We found it very difficult (reaching / to reach) a decision.
5. Donna is interested in (to open /opening) a bar.

6. George has no intention of (to leave /leaving) the city now.
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. We are eager (to return / returning) to school in the fall.

. We would be better off (to buy / buying) this car.

. She refused (to accept / accepting) the gift.

0. Mary regrets (to leave / leaving) school at 14 — it was a big mistake.

Exercise 2: Complete the sentences below with these verbs

apply, be (x2), listen, make, see, use, wash, work, write

. Could you please stop....
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. Have you finished ..........................your hair
. If you walk into the road without looking,
. Jim is 65 but he isn't going to retire yet
. I'don't mind you...............the phone
. Hello! Fancy .. you here!
. I've put off

r all your calls.
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14. My mother
15. I can't understand



